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Z|3253] +S43 ¢ 7,008 231210271 F2O F(FHE)/EFY(FHE] F2O
et 2022, =018 230813% X =0pe =t =t =otett
Zlo|= SE 558 1000m 58 1000m £|117|5
D 7 2ozt 40 o8g= 50.0% odg= 50.0% 2 0|2H%Z 9.1% 8 ol &= 1237
A 3 golz 39 5 43t 77% 9 FH|ZEA 27.8% 3 gz 40% 481212 1238
T 9 RHlZA 39 8 gl B 68% 5 g3the 23.1% 7 Fots7t 40% 3 gl 1:245
A 4f2|Z 37 3 &2 57% 2 0|24 %2 16.7% 8 ol E= 31% 7 Sot37t 12247
2 Oj2H=|Z 31 2 O|2f=|Z 56% 7 2332t 14.6% 43212 1.8% 9 FHIZX} 12253
HZ 1 A3 zZ eME 3 XHE200m 7| E(621H ) F4t 200m 715 (621 E ) HEX|$
T 2ozt 36.6840t 45f2|Z 19,744t 6 FTEEA 176 48022 177 4822 108
| 45423 30.0443F 2 0= 16,244k 9 FH[Z A 180 8 g Ez 178 3 Fofiz 104
P 3 &= 26.0443¢ odg= 7.0448k 5 d3HHE 180 9 FH|ZX} 182 8 ol E= 104
S 2 O2=2 24.5440F 6 FEEA 6.3440t 1 x0lg 180 2 0|2H=Z 183 7 Sot37t 100
5 d3HtE 20.3448k 7 Rotat 5.884at odg= 181 gz 183 9 FH|IZX} 99

R 133 [2024.03.30]
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